## Method of steps for mixed second order functional-differential equations

Răzvan V. Gabor

ABSTRACT. The main purpose of this paper is to apply the method of steps for mixed second order functional differential equations. The linear case is discussed as an example.

## 1. The main result

In what follows we shall consider the problem:

$$x''(t) = f(t, x(t), x(t-h), x(t+h)), \quad t \in [a, b]$$
 (1.1)

$$x(t) = \varphi(t), \quad t \in [t_0 - h, t_0 + h]$$
 (1.2)

where  $t_0 \in [a, b]$ ,  $a \le t_0 - h, t_0 + h \le b$  and  $\varphi \in C^2[t_0 - h, t_0 + h]$ .

Let 
$$n_a := \left[\frac{t_0 - a}{h}\right]$$
,  $n_b := \left[\frac{b - t_0}{h}\right]$  and  $n := \max\{n_a, n_b\}$ .

By a solution of (1.1) + (1.2) we understand a function

$$x \in C[a-h, b+h] \cap C^2[a, b]$$

which satisfies (1.1) + (1.2) for all  $t \in [a, b]$ .

We consider the following conditions:

Let  $f \in C^{n+2}([a,b] \times \mathbb{R}^3)$ .

(C1) For all  $u_1 \in [a, b], u_2, u_4, u_5 \in \mathbb{R}$ , there exist a unique  $u_3 \in \mathbb{R}$ ,

$$u_3 = f_1(u_1, u_2, u_4, u_5), f_1 \in C^{n+2}([a, b] \times \mathbb{R}^3)$$

such that  $u_5 = f(u_1, u_2, u_3, u_4)$ .

(C2) For all  $u_1 \in [a, b], u_2, u_3, u_5 \in \mathbb{R}$ , there exist a unique  $u_4 \in \mathbb{R}$ ,

$$u_4 = f_2(u_1, u_2, u_3, u_5), f_2 \in C^{n+2}([a, b] \times \mathbb{R}^3)$$

such that  $u_5 = f(u_1, u_2, u_3, u_4)$ .

We have the result:

**Theorem 1.1.** Let  $f \in C^{n+2}([a,b] \times \mathbb{R}^3)$  which satisfies (C1) and (C2). If  $\varphi \in C^{n+2}[t_0 - h, t_0 + h]$ , then the problem (1.1) + (1.2) has a unique solution

$$x \in C^{n}[a-h, b+h] \cap C^{n+2}[a, b].$$

*If*  $\varphi$  *satisfies the condition:* 

$$\varphi^{(k+2)}(t_0) = \left[ f(t, \varphi(t), \varphi(t-h), \varphi(t+h)) \right]_{t=t_0}^{(k)}, \ k \in \{0, 1, 2, ..., n\},$$
(1.3)

then  $x \in C^{n+2}[a-h, b+h]$ .

Received: 24.10.2005. In revised form: 01.11.2006.

2000 Mathematics Subject Classification. 34A12, 47H10.

Key words and phrases. Method of steps, mixed second order equation.

*Proof.* By the method of steps we construct the solution of (1.1) + (1.2) as follows: Let  $t \in [t_0, t_0 + h]$ . Then  $\varphi''(t) = f(t, \varphi(t), \varphi(t-h), x(t+h))$ . From condition (C2) we have:

$$x(t) := x_1(t) = f_2(t - h, \varphi(t - h), \varphi(t - 2h), \varphi''(t - h)), t \in [t_0 + h, t_0 + 2h].$$

By the same method we find the final step:

$$x_{n_b}(t) = f_2(t-h, x_{n_b-1}(t-h), x_{n_b-1}(t-2h), x_{n_b-1}''(t-h)), t \in [t_0 + n_b \cdot h, b],$$

where  $n_b = \left\lceil \frac{b - t_0}{h} \right\rceil$ . We must have

$$\varphi(t_0 + h) = x_1(t_0 + h)$$

$$x_p(t_0 + (p+1)h) = x_{p+1}(t_0 + (p+1)h), \quad p \le n_b - 1$$

In the same way we have the solution on  $[a,t_0]$  with the condition:  $\varphi(t_0-h)=x_{-1}(t_0-h); x_{-p}(t_0-(p+1)h)=x_{-(p+1)}(t_0-(p+1)h), p\leq n_a-1$ , where  $n_a=\left[\frac{t_0-a}{h}\right]$ . So, the solution is:

$$x(t) = \begin{cases} x_{-n_a}(t), & \text{if } t \in [a, t_0 - n_a h], \\ x_{-k}(t), & \text{if } t \in [t_0 - (k+1)h, t_0 - kh], \\ 1 \le k \le n_a - 1\varphi(t), & \text{if } t \in [t_0 - h, t_0 + h], \\ x_k(t), & \text{if } t \in [t_0 + kh, t_0 + (k+1)h], \\ 1 \le k \le n_b - 1x_{n_b}(t), & \text{if } t \in [t_0 + n_b h, b]. \end{cases}$$

Let  $n := \max\{n_a, n_b\}$ . Now we prove the necessity of the condition (1.3). Let  $x \in C[a-h, b+h] \cap C^2[a, b]$  be a solution of the problem (1.1) + (1.2). If  $x \in C^n[a-h, b+h] \cap C^{n+2}[a, b]$ , then:

$$x^{(k+2)}(t) = [f(t, x(t), x(t-h), x(t+h))]^{(k)}$$
 for all  $t \in [a, b], k \in \{0, 1, 2, ..., n\}$ .

For  $t = t_0$  we have:

$$\varphi^{(k+2)}(t_0) = \left[ f(t, \varphi(t), \varphi(t-h), \varphi(t+h)) \right]_{t=t_0}^{(k)}, \ k \in \{0, 1, 2, ..., n\}.$$

Since 
$$\varphi \in C^{n+2}[t_0 - h, t_0 + h]$$
, we infer that  $x \in C^{n+2}[a - h, b + h]$ .

## 2. Example

We consider the following example:

$$x''(t) = \alpha \cdot x(t) + \beta \cdot x(t-h) + \gamma \cdot x(t+h), t \in [a, b]$$
(2.4)

$$x(t) = \varphi(t), t \in [t_0 - h, t_0 + h], \tag{2.5}$$

where  $\alpha, \beta, \gamma \in \mathbb{R}$ ,  $\beta \neq 0$ ,  $\gamma \neq 0$ ,  $t_0 \in [a, b]$  and  $a \leq t_0 - h$ ;  $t_0 + h \leq b$ .

To find conditions for the existence of a solution of the problem (2.4) + (2.5) we apply the method of steps on intervals  $[t_0, b]$  and  $[a, t_0]$ .

Let  $t \in [t_0, t_0 + h]$ ,

$$\varphi''(t) = \alpha \cdot \varphi(t) + \beta \cdot \varphi(t-h) + \gamma \cdot \varphi(t+h).$$

Then

$$x(t) := x_1(t) = \frac{1}{\gamma} \left[ \alpha \cdot \varphi(t-h) + \beta \cdot \varphi(t-2h) - \varphi''(t-h) \right],$$

for 
$$t \in [t_0 + h, t_0 + 2h]$$
.

Let 
$$t \in [t_0 + h, t_0 + 2h]$$
,

$$x_1''(t) = \alpha \cdot x_1(t) + \beta \cdot \varphi(t-h) + \gamma \cdot x(t+h).$$

Then

$$x(t) := x_2(t) = \frac{1}{\gamma} \cdot [\alpha \cdot x_1(t-h) + \beta \cdot \varphi(t-2h) - x_1''(t-h)],$$

for  $t \in [t_0 + 2h, t_0 + 3h]$ .

In the same way the final step on  $[t_0, b]$  we obtain:

$$x_{n_b}(t) = \frac{1}{\gamma} \cdot [\alpha \cdot x_{n_b-1}(t-h) + \beta \cdot x_{n_b-2}(t-2h) - x''_{n_b-1}(t-h)],$$

for 
$$t \in [t_0 + n_b \cdot h, b]$$
, where  $n_b = \left\lceil \frac{b - t_0}{h} \right\rceil$ .

On interval  $[a, t_0]$  we find that

$$x_{n_a}(t) = \frac{1}{\gamma} \cdot [\alpha \cdot x_{n_a-1}(t+h) + \beta \cdot x_{n_a-2}(t+2h) - x''_{n_a-1}(t+h)],$$

for 
$$t \in [a, t_0 - n_a \cdot h]$$
, where  $n_a = \left\lceil \frac{t_0 - a}{h} \right\rceil$ .

Let  $n := \max\{n_a, n_b\}$ ,  $\varphi \in C^{n+2}[t_0 - h, t_0 + h]$  and  $x \in C^n[a - h, b + h] \cap C^{n+2}[a, b]$  be a solution of the problem (2.4) + (2.5).

We have:

$$x^{(k+2)}(t) = \alpha \cdot x^{(k)}(t) + \beta \cdot x^{(k)}(t-h) + \gamma \cdot x^{(k)}(t+h),$$

for  $k \in \{0, 1, 2, ..., n\}$ .

For  $t = t_0$  we obtain:

$$\varphi^{(k+2)}(t_0) = \alpha \cdot \varphi^{(k)}(t_0) + \beta \cdot \varphi^{(k)}(t_0 - h) + \gamma \cdot \varphi^{(k)}(t_0 + h),$$

for  $k \in \{0, 1, 2, ..., n\}$ .

Then the problem (2.4) + (2.5) has a solution if and only if

$$\varphi^{(k+2)}(t_0) = \alpha \cdot \varphi^{(k)}(t_0) + \beta \cdot \varphi^{(k)}(t_0 - h) + \gamma \cdot \varphi^{(k)}(t_0 + h),$$

for  $k \in \{0, 1, 2, ..., n\}$ .

For example, if

$$\alpha = \beta = 1, \ \gamma = -1, \ h = \pi, \ \varphi(t) = \sin(\pi - t)$$
  
 $t_0 = 0, \ a = -2\pi, \ b = 2\pi, \ t \in [-\pi, \pi]$ 

we have the following solution:

$$x(t) = \sin(\pi - t), t \in [-2\pi, 2\pi].$$

## REFERENCES

- [1] Dârzu V. A., Some existence results for differential equations of mixed type, Proc. Tiberiu Popoviciu Itinerant Seminar (Ed. E. Popoviciu), Srima, Cluj, 2001, 43-46
- [2] Driver R. D., A "backwards" two-body problem of classical relativistic electrodynamics, The Physical Review, 178 (1969), 2051-2057
- [3] Precup R., Some existence results for differential equations with both retarded and advanced arguments, Mathematica (Cluj), **44** (2002), 25-31
- [4] Rus I. A., Crăciun I., Wheeler-Feynman Problem for Mixed Order Functional-Differential Equations, Tiberiu Popoviciu Itinerant Seminar of Functional Equations, Approximation and Convexity, Cluj-Napoca, May 23-29, 2000, 197-200
- [5] Rus I. A., Dârzu-Ilea V., First order functional-differential equations with both advanced and retarded arguments, Fixed Point Theory, 5 (2004), 103-115
- [6] Rus I. A., *Principles and applications of fixed point theory*, Editura Dacia, Cluj-Napoca, 1979 (in Romanian)

"IOSIF VULCAN" HIGH SCHOOL STR. JEAN CALVIN 3 410210 ORADEA, ROMANIA E-mail address: rgabor@rdsor.ro